Coefficient of Friction between Body and Wedge.

A body slides on a smooth wedge of angle dand its time of descent is ¢

Rough wedge

If the same wedge made rough then time taken by it to come down becomes n times more

(re. nd
The length of path in both the cases are same.

For smooth wedge

S=ut+lat2
2

S =%(g sin@)t* ... (i)

[Asu=0and a=gsind]

For rough wedge

S=ut+lat2
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S = %g(sin& —ucosnt): .. (ii)

[Asu=0and a=g(sin@ — ucos )]

From equation (i) and (i) %(g sin@)¢* = %g(sin@ — ucos 0)(nt)*

=sin€ =(sinf — ycos O)n*

:>,u=tant9[1 —Lz}
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